
9② 9 × 6 ＝ 9 × －

① 9 × 2 ＝ 9 × ＋ 9

9

9 9 18 27 36 45 54 63 72 81

かけられる数 1 2 3 4 5 6 7 8

2  次の　　　に数を書きましょう。

② 8 × 7
×

かける数

6 ＝ #

7 ＝ 0

あわせて #

名まえ

1  次の　　　に数を書きましょう。

あわせて #

5 × 7 ＝ #

① 7 × 6
× 6 ＝ 0

2 ×

15

⑮ 力だめし

(各10点)

(各10点)

目指せ80点！



9② 9 × 6 ＝ 9 × 7 －

① 9 × 2 ＝ 9 × 1 ＋ 9

9

9 9 18 27 36 45 54 63 72 81

かけられる数 1 2 3 4 5 6 7 8

2  次の　　　に数を書きましょう。

② 8 × 7
3 ×

かける数

6 ＝ #

7 ＝ #

あわせて #

名まえ

1  次の　　　に数を書きましょう。

あわせて #

5 × 7 ＝ #

① 7 × 6
5 × 6 ＝ #

2 ×

15

⑮ 力だめし 答え

12

30

42

35

21

56

(各10点)

(各10点)

目指せ80点！


